Vinaynagar, I S Sadan Crossroads, Saidabad, Hyderabad - 500 059, Telangana

Phone: 040 - 24531121

SLV/ BRECW/PO - 103 - 128 /2021-22

Dt: 08th January 2022

Purchase Order

To MIS TEAM COMPUTERS PVT LTD, Ground Floor,116, Oxford Tower No 139, Old Airport Road, Kodihalli, Bangalore, Bengaluru (Bangalore) Urban, Karnataka-560008.

Ph: 9599080264

Email: priyanka.kallakuri@teamcomputers.com

Sir.

Sub; Work Order for procurement of Mini PCs of Bhoj Reddy Engg. College for Women -Reg. Ref: Qtn No.Nil, dated: 04.01.2022

We are pleased to release the Work Order for replacement of Thin Clients in classrooms with Mini PCs to BRECW

S No	Name of the Item	Qty. Req No's	Rate (Rs)	Amount Rs.	GST . 18%	Total Cost Rs
1	2	3	4	5	6	7
01	HP 280.G6 i3 10100/4 GB RAM/256 GB SSD/DOS HDMI:Port, VGA Port	32	34,100	10,91,200	1,96,416	12,87,616
	History various				Total:	12,87,616

(Rupees twelve lakhs eighty seven thousand six hundred and sixteen only)

Terms & Conditions

Delivery

: On or before 24.01.2022

Warranty

3 years

Payment

: 50% payment of Rs. 6,43,808 paid vide Cheque No. 0108 4 4

dated: 08-01-22balance 50% payment of Rs. 6,43,808,will be paid after

satisfactory report from Computer In charge

Destination

Bhoji Reddy Engineering College for Women, Santhosh nagar,

Hyderabad

Executive Officer (E Vijaya Lakshmi)

Jr. Snividyagti This PO is prepared by K.Srividya Purchase Officer

1) Principal, BRECW

(V3)Computers Incharge of SLV

5) Stores, SLV

2) Head of EEE, ECE, CSE& IT departments, EC

4) Accounts Section, SLV

ECE- 12

Bhoj Reddy Engineering College for Wemen Vinaynagar, Santoshnagar Crossroads, Hyderabad-500 059, Telangana-

Sangam Laxmibai Vidyapeet Vinaynagar, I S Sadan Crossroads, Saidabad, Hyderabad - 500 059, Telangana

Phone: 040 - 24531121

SLV/BRECW/PO - 42-110/2021-22

Dt: 2nd December 2021

Purchase Orde

To M/S TEAM COMPUTERS PVT LTD, Ground Floor, 116, Oxford Tower No 139, Old Airport Road, Kodihalli, Bangalore, Bengaluru (Bangalore) Urban, Kamataka-560008. Ph: 9599080264

Email: priyanka.kallakuri@team.computers.com

Sub: Work Order for procurement of Computers to Bhoj Reddy Engineering College for Women-Reg.

Ref: QtnNo.Nil, dated: 10.11.2021

We are pleased to release the Work Order for procurement of Computers in Computer Lab-V (302) & VI (303) WB, Seminar Hall-I (WB) and Seminar Hall-II (WB-402) of Bhoj Reddy Engineering College for Women.

The details of the requirement are given below:

1 Computers Specifications: 74 53,200 9,576 62,776 46,45,42 Deskton - HP 400 G7 MT PDK 400 G7 MT RCTO BU DT PC HP ProDesk MT 92 260W Chassis Intel Core is -10500 3.1GHz 6C 65W 8GB (1x8GB) DDR4 2666 DIMM 512GB M.2 2280 PCIe NVMe SSD FreeDOS No 3rd Port Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors 174 200 34,800 - 34,800	SI	Vo	Name of the Item	Qty. Req	Rate (Rs)	GST (18%)	Cost Rs (4+5)	Total Cost Rs
Desktop - HP 400 G7 MT PDK 400 G7 MT RCTO BU DT PC HP ProDesk MT 92 260W Chassis Intel Core i5-10500 3.1GHz 6C 65W 8GB (1x8GB) DDR4 2666 DIMM 512GB M.2 2280 PCIe NVMe SSD FreeDOS No 3rd Port Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core i5 Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors Puy back: 174 200 34,800 - 34,800 34,800 34,800 - 24,600	1		2 94 45 46 46 40	3	. 4	5		7
Desktop - HP 400 G7 MT PDK 400 G7 MT RCTO BUIDT PC HP ProDesk MT 92 260W Chassis Intel Core i5-10500 3.1GHz 6C 65W 8GB (1x8GB) DDR4 2666 DIMM 512GB M.2 2280 PCIe NVMe SSD FreeDOS No 3rd Port Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800 Buy back: 174 200 24 600 - 24 600	1		Computers Specifications:	74	53,200	9,576	62,776	46.45.424
PDK 400 G7 MT RCTO BU DT PC HP ProDesk MT 92 260W Chassis Intel Core i5-10500 3.1 GHz 6C 65W 8GB (1x8GB) DDR4 2666 DIMM 512GB M.2 2280 PCIe NVMe SSD FreeDOS No 3rd Port Intel VPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core i5 Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors 174 200 34,800 - 34,800 Buy back: 123 200 24 600 - 24 600		4.3	Pesking - HP 400 G7 MT	<u> </u>		•		
HP ProDesk MT 92 260W Chassis Intel Core i5-10500 3. 1GHz 6C 65W 8GB (1x8GB) DDR4 2666 DIMM 512GB M.2 2280 PCIe NVMe SSD FreeDOS No 3rd Port Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core i5 Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-Inch Monitor Buy back: Old Monitors Puy back: 174 200 34,800 - 34,800		¥						
Intel Core i5-10500 3.1GHz 6C 65W 8GB (1x8GB) DDR4 2666 DIMM 512GB M.2 2280 PCIe NVMe SSD FreeDOS No 3rd Port Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core i5 Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-Inch Monitor Buy back: Old Monitors 174 200 34,800 - 34,800 Buy back: 123 200 24 600 - 24 600		· [4]		- The state of the		"	•	
8GB (1x8GB) DDR4 2666 DIMM 512GB M.2 2280 PCIe NVMe SSD FreeDOS No 3rd Port Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors 174 200 34,800 34,800 Buy back: 123 200 24 600 24 600		::-		- Linearing			•	
512GB M.2 2280 PCIe NVMe SSD FreeDOS No 3rd Port Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core i5 Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-Inch Monitor Buy back: 174 200 34,800 - 34,800 Old Monitors Buy back: 123 200 24 600 - 24 600		٠,٢						
FreeDOS No 3rd Port Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-Inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800		4	512GR M 2 2780 PCIa NIVATA CCD	: .	-		and a second	
No 3rd Port Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800			FreeDOS			: .		
Intel vPro Upgrade Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800			The state of the s					
Single Unit (MT) Packaging HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core IS Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-Inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800 34,800 Buy back: 123 200 24 600 - 24 600	1	٠. ا	N. F. S. C. C. C. C. F. L. C.			· .		
HP DisplayPort to VGA Adapter HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-Inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800						- A		
HP USB Hardened Optical Wired Mouse No Included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-Inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800								
Mouse No Included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800 Old Monitors Buy back: 123 200 24 600 - 24 600		.						
No Included ODD Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800 Old Monitors 123 200 24 600 - 24 600	- -					=		
Intel CML Core is Label HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800 Old Monitors Buy back: 123 200 24 600 - 24 600								
HP 400 G7 MT CKIT HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: Old Monitors Buy back: 174 200 34,800 - 34,800 Old Monitors 123 200 24 600 - 24 600		.						
HP USB 320K KB 3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: 174 200 34,800 - 34,800 Old Monitors 123 200 24,600 - 24,600							- · _	
3/3/3 MT Warranty Singapore - English localization HP P204v 19.5-inch Monitor Buy back: 174 200 34,800 - 34,800 Old Monitors Buy back: 123 200 24,600 - 24,600							-	
Singapore - English localization HP P204v 19.5-inch Monitor		.]					-	
HP P204v 19.5-inch Monitor	· ·				- 1		. 2	
Buy back : 174 200 34,800 - 34,800 Old Monitors 123 200 24,600 - 24,600								
Old Menitors 200 24 600 2 24 600		•						
Buy back: 123 200 24 600 - 24 600	1:			1/4	200	34,800		34,800
	-		The state of the s	· maintain in i	:		Applications	
Old CPU's				123	200	24,600	-	24,600
]:	Old CPU's			7	CTTOWNSTA	
Total 45.86 D2			Total		1 . et en e e	.,		45,86,024

(Rupees forty five lakhs eighty six thousand and twenty four only)

Bhoj Reddy Engineering College for Women Vinaynagar, Santoshnagar Crossroads, Hyderabad-500 059, Telangana.

Distribution of 74 Computers:

Quantity
36
36
01
101

Note: The above mentioned buy back systems recommended by computers incharge.

Terms & Conditions

Delivery

: On or before 24th December 2021

Payment

50% payment of Rs. 22,93,012 paid vide Cheque No. 010853

dated: 07-19 2021 balance 50% payment of Rs. 22,93,012 will be paid after satisfactory report from Computer In charge

Destination

Bhoji Reddy Engineering College for Women, Santhosh nagar,

Hyderabad

Executive Officer (E Vijaya Lakshmi)

This PO is prepared by K.Srividya Purchase Officer

1) Principal, BRECW

2) Computers Incharge of SLV

3) Accounts Section, SLV

4) Stores, SLV

Bhoj Reddy Engineering College for Women Vinaynagar, Santoshnagar Crossroads, Hyderabad-500 059, Telangana

Vinaynagar, Santoshnagar Crossroads, Saidabad, Hyderabad - 500 059, Telangana

Phone: 040 - 24531121; Fax: 040- 24537281

No: SLV/ BRECW/PO - 152 - 282 /2018-19

Date: 13th March 2019

To

Purchase Order

M/s Blue Wave IT Solutions India Pvt Ltd

H No: 1-8-229/6/1, F No: 201, 2nd Floor Hari OM Building, Sindhi Colony, PG Road, Secunderabad – 500 003 Ph: 88855 14488 / 83742 02479 Email: giri@bluewaveits.com

Sirs,

Sub: Supply of Desktops (HP) to Internet Lab of Bhoj Reddy Engineering College – Reg. Ref: Your Qtn No Nil dt 12.03.2019

We are pleased to release purchase order for supply of Desktops (HP) required to Internet Lab of Bhoj Reddy Engineering College as per negotiated rates, specifications, terms and conditions mentioned below:

S No	Name of the Item	Speci	fications	Qty Req	Rate	Amount
1	2	•	3	No's	Rs	Rs
01	Desktop Make: HP	Model	HP 400 G5	64	5 38,600	6
		Processor Processor Speed Chipset Memory (RAM) Hard Disk	Intel Core i3 Processor 8 th Generation 3.6 GHz Intel H270 4 GB 1 TB		00,000	24,70,40
		Monitor Graphic Card OS DVD/Keyboard/Mouse	19.5" LED Integrated intel HD 530 Free Dos USB Keyboard			
To	otal	.	and Mouse			
(F	Rupees Twenty F	our Lakhs Seventy Thou		64	2	4,70,400

Rupees Twenty Four Lakhs Seventy Thousand Four Hundred Only)

Bhoj Reddy Engineering College for Women Vinaynager, Santoshnagar Crossroads, Hyderabad-500 059, Telangana.



Vinaynagar, Santoshnagar Crossroads, Saidabad, Hyderabad - 500 059, Telangana

Phone: 040 - 24531121; Fax: 040- 24537281

No: SLV/ BRECW/PO - 132 - 190 /2017-18

Date: 15th February 2018

To

Purchase Order

M/s Blue Wave IT Solutions India Pvt Ltd

H No: 1-8-229/6/1, F No: 201, 2nd Floor Hari OM Building, Sindhi Colony, PG Road, Secunderabad – 500 003 Ph: 88855 14488 / 83742 02479 Email: giri@bluewaveits.com

Sirs,

Sub: Supply of Desktops (HP) for Bhoj Reddy Engineering College – Reg.

Ref: Your Qtn No. Nil, dated: 14.02.2018

We are pleased to release purchase order for supply of Desktops (HP) required for Bhoj Reddy Engineering College as per negotiated rates, specifications, terms and conditions mentioned below:

S No	Name of the Item	Spec	Qty Req No's	Rate Rs	Net Rate (incl 18% GST) Rs	Amount Rs	
		M-J-I	3	4	5	6	7
01	Desktop	Model	HP 280 G3	80	40,400	47,672	38,13,760
	Make: HP	Processor	Core i5 – 7500 (7 th Generation)		·	,0,2	00,10,700
		Processor Speed	3.40 GHz			• • 	
_ 8	-	Chipset	Intel H110				
		Memory (RAM)	8 GB - DDR4				
		Hard Disk	1 TB - SATA HDD				46
2		Monitor	18.5" LED Screen				
		OS	DOS				
		USB Keyboard and	USB Optical Mouse				

(Rupees Thirty Eight Lakhs Thirteen Thousand Seven Hundred and Sixty Only)

PRINCIPAL
Bhoj Reddy Engineering College for Women
Vinaynager, Santoshnagar Crossroads,
Hyderabad-500 059, Telangana

1 of 2

Vinagar Nagar, Santoshnagar Crossroads, Saidabad, Hyderabad - 500 059, Telangana

Phone: 040-24592- (Extn) Purchase (221), Central Stores (223) & Accounts (222) / 040 24531121; Fx: 040-24537281

No SLV / BRECW / PO- 029 - 0 8 4 2016-17

Date: 10 June 2016

To

M/s Blue Wave IT Solutions India Pvt Ltd

1-8-229/6/1, Flat No: 201,2nd Floor Hari OM Building, Opp. Heritage fresh

Sindhi Colony, P G Road Secunderabad – 500003

Ph: 9701173233 Email: rk@bluewaveits.com

Sirs,

Sub: Supply of Desktops (HP) for Bhoj Reddy Engineering College-Reg

Ref: Your Quotation No. BWITIPL/May-16/731 Dated 08.05.2016

We are pleased to release purchase order for supply of Desktops (HP) required for Bhoj Reddy Engineering College as per negotiated rates, specifications, terms and conditions mentioned below:

S No	Name of the Item		Specifications	Qty Req	Rate Rs	Amount Rs
1:	Desktop	Model	HP 406 G1 MT			
	Make: HP	Processor	Intel i5 – 4570 - 4 th Gen	160	41,905	67,04,800
		Processor Speed	3.20 GHz			
		Chipset	Intel ® Q85			
		Memory (RAM)	4 GB DDR3			
		Hard Disk	500 GB SATA (7200 RPM)			
		Monitor	19" LED, HPV194			
			(Part Number:V5E94AA)	•		
		OS	DOS			- 7
		DVD Writer, USB h	Keyboard and USB optical Mouse			
			PCle x 1; 1 full height PCle x 16;			
			nectors4 USB 3.0; 4 USB 2.0; 2 nd mouse); 1 RJ-45; 1 VGA; 2	4		
			lio line in; 1 audio line out; 1 head			
		phone	, , , , , , , , , , , , , , , , , , , ,		•	1 100
	Vat 5%					3,35,240
•	Total					70,40,040
	Buyback (-)		- 23 Nos, PIII-05 Nos & · 83 Nos	111	500	55,500
	Grand Total					69,84,540

(Rupees Sixty Nine Lakhs Eighty Four Thousand Five Hundred Forty only)

PRINCIPA Bhoj Reddy Engineering College for Wemen Vinaynagar, Santoshnagar Crossroads, Hyderabad-500 059, Telangana.

1 of 2

M. Kalta

Vinaynagar, Santoshnagar Crossroads, Saidabad, Hyderabad - 500 059, Telangana

Phone: 040 - 24531121

Purchase Order

No: SLV/BRECW/PO - 143 - 267 /2018-19

Date: 2nd March 2019

To

M/s NEcX Pvt. Ltd.,

H No: 5-4/A, Road No. 1, Street No.1

IDA Nacharam, Hyderabad – 500 076.

Ph: 99082 65435 / 67212147 Email: varma.dantuluri@necx.in

Sirs,

Sub: Supply of Desktops to Bhoj Reddy Engineering College for Women of Sangam Laxmibai Vidyapeet Institutions – Reg.

Ref: Your Qtn/SQ-1819-0083/REV :3 Dt 22.02.2018

We are pleased to release the order for supply of Desktops to Bhoj Reddy Engineering College for Women of Sangam Laxmibai Vidyapeet. Specifications, terms and conditions mentioned below:

S No	The state of the s	Spec	ifications	Qty Req Nos	Rate Rs	Net Rate (incl 18% GST) Rs	Amount Rs
<u> </u>	Doolston 2	3	4	5	6	7	8
01	Desktop	Model	OptiPlex 3060	143 Nos	38,955	45,967	65,73,281
	Make: Dell	Processor	Intel Core i5		00,000	40,007	05,75,201
	Intel Core i5 Processor		Processor 8th Generation	CSE - 71			
	(8 th Generation) 8 GB RAM; 1 TB Hard	Processor Speed	4.0GHz	IT- 72			•
) _/	Disk,	Chipset	Intel H370				
	19" wide LED Monitor,	Memory (RAM)	8 GB	- 1			
	USB Keyboard & USB	Hard Disk	1 TB	1			
	Optical Mouse;	Monitor	19" LED				
	Operating System: DOS / Linux	Graphic Card	Integrated intel HD 610/630				
		OS	Ubuntu	1			
		DVD/Keyboard/	USB Keyboard	1			
		Mouse	and Mouse				
	Total			143			65,73,281

(Rupees Sixty Five Lakhs Seventy Three Thousand Two Hundred and Eighty one Only)

PRINCIPAL

Bhoj Reddy Engineering College for Wemen
Vinaynagar, Santoshnagar Crossroads,
Hyderabad-500 059, Telangana,

Purchase Order for supply of Desktops to Bhoj Reddy Engineering College for Women

Terms & Conditions

1) Delivery

On or before 19th March 2019

2) Warranty

Three Years

3) GST

Exclusive

4) Payment

100% payment through crossed cheque after complete supply as per Purchase Order and

satisfactory installation report from the Incharge computers.

5) Destination

Stores, Sangam Laxmibai Vidyapeet, Vinaynagar, Saidabad, Hyderabad – 500 059.

O/c

Secretary (M Rama Reddy)

Copy to:

1) Computers Incharge

- (2) HOD IT, EC
 - 3) Systems Administrator
- 4) Accounts Section SLV
- 5) Stores SLV

PRINCIPAL

Bhoj Reddy Engineering College for Wemen
Vinaynager, Santoshnagar Crossroads,
Hyderabad-500 059, Telangana

No. 2.16/214 Date 5-3-19

Compila los II memolos : 3 systen

Sangam Laxmibai Vidyapeet

Vinagar Nagar, Santoshnagar Crossroads, Saidabad, Hyderabad - 500 059, Telangana

Phone: 040-24592- (Extn) Purchase (221), Central Stores (223) & Accounts (222) / 040 24531121; Fx: 040-24537281

No SLV / BRECW / PO- 028 - 082/2016-17

Date:

1 d June 2016

To

M/s Prodigy Computers & Laptops Pvt Ltd

MIG-46/A, Prodigy Plaaza

Near JNTU, Behind ICICI Bank

KPHB Colony, Kukatpally

.Hyderabad- 500085

Ph: 64561588 Email: prodigymurali@gmail.com

Sub: Supply of Desktops (DELL) for Teaching Faculty of Bhoj Reddy Engineering College-Reg

Ref: Your Quotation No. PCL785 Dated 30.05.2016

We are pleased to release purchase order for supply of Desktops (DELL) required for Teaching Faculty of Bhoj Reddy Engineering College as per negotiated rates, specifications, terms and conditions mentioned below:

S No	Name of the Item	Sp	Qty Req Nos	Net Rate (Incl Vat) Rs	Amount Rs	
1	Desktop	Model	DELL Optiplex 3020 MT			
		Processor	Intel i3 – 4160 – 4th Gen	27	35,000	9,45,000/-
	Make: DELL	Processor Speed	3.60 GHz	-:		.,,
	* * *	Chipset	Intel H81			
		Memory (RAM)	4 GB DDR3			v.
	,	Hard Disk	500 GB			_
		Monitor	18.5" LED			
		OS	Ubuntu/ DOS			
		DVD Writer, USB K	eyboard and USB optical			
		Mouse	لقب			

(Rupees Nine Lakh Forty Five Thousand only)

Terms & Conditions

On or before 214 June 2016 Delivery

2 Tax Inclusive

Three years Onsite Warranty

100% payment through crossed cheque after completion of supply as per PO and after **Payment**

satisfactory installation report from the Head of concerned Departments

Central Stores, Sangam Laxmibai Vidyapeet, Vinaynagar, Saidabad, Hyderabad

Bhoj Reddy Engineering College for Wome Winaynagar, Santoshnagar Crossroads

Hyderabad-500 059, Telangana,

Copy to:

Principal BRECW

Head of EEE, ECE, CSE, IT, BS, GE, BA & English Depts

Computers Incharge & Systems Administrator

Accounts Section, SLV. 5) Central Stores

Distribution:

CSE-05; IT-05; EEE-02

ECE-07; BS-02; GE-09

Eng-01; BA-03

H 21 --



Compular bas II (mpmc) ; 9 systes

Sangam Laxmibai viqyapeet

Santoshnagar Crossroads, Saidabad, Hyderabad - 500 059

Samosimagai Giossidads, Qaldabad, Flyderabad - 500 059 Phone:: 040-24592- (Extn)Purchase(221), Central Stores(223)& Accounts Setion (222) / (040) 2453-1121; Fx: 2453-7281

No SLV / BRECW / PO-153- 268 / 2014-15

Date: 21 December 2014

M/s Blue Wave IT Solutions India Pvt Ltd

1-8-229/6/1, Flat No 201, 2nd Floor Harl Om Building, Opp Heritage Fresh

Sindhi Colony, P.G.Road, Secunderabad-500003

Ph: 040-66130773, 66903922, 8885514488

Sub: Supply of Desktops for Faculty of Bhoj Reddy Engineering College-Reg

We are pleased to release order for supply of Desktops required for Faculty of Bhoj Reddy Engineering College as per negotiated rate, specifications, terms and conditions mentioned below:

S No	Name of the Item	Specifications	Qty Req	Rate Rs	Amount Rs
1	Desktop Make: HP Model: HP 280G1 MT	Processor Intel i3 - 4th Gen (4150, 3.5 GHz Speed) Mother Board Intel H81 Memory (RAM) 4 GB 1600 MHz DDR3 Storage 500 GB (Speed 7200 Rpm Monitor 19" LED. PCI Slots 1 Mini PCI Slots 2 Operating System Windows 8, Windows 7, Ubuntu Linux, Freedos DVD Writer, USB Keyboard and USB optical	112 (a) (co) (co)	28,950	32,42,400
	# # # # # # # # # # # # # # # # # # #	Mouse			1,62,120
	Vat 5%	i.		,	34,04,520/-

(Rupees Thirty Four Lakhs Four Thousand Five Hundred Twenty only)

Terms & Conditions

Delivery

January 2015

2 Taxes

Copy to:

Inclusive

3 Warranty Three years Onsite

Payment

100% payment through crossed cheque after completion of supply as per PO and after

satisfactory installation report from System Administrator and Incharge Computer

Destination

Central Stores, Bhoj Reddy Engineering College for Women, Vinaynagar, Saidabad, Hyderabad

Secretary 31/12

Bhoj Reddy Engineering College for Women

Vinaynagar, Santoshnagar Crossroads

Hyderabad-500 059, Telangana

Principal BRECW Computer Incharge

3) System Administrator

Accounts Section, SLV

5) Central Stores

Santoshnagar Crossroads, Saidabad, Hyderabad - 500 059

Phone: Purchase; Central Stores & Accounts Setion (040) 2453-1121; 2453-7282; Fx: 2453-7281

SLV / BRECW / PO- 253 - O57 / 2014-15

Date: 16th May 2014

M/s Powersoft Technologies #6-3-1238/15/1, Flat No 202 Elite Heights, Somajiguda Hyderabad- 500082 Ph: 2337113, 23371114, Fax: 040-23371115

Sirs,

Sub: Supply of Desktops for ECE Dept of Bhoj Reddy Engineering College-Reg

Ref: Your Quotation No Nil Dt 14.05.2014

We are pleased to release purchase order for supply of Desktops required for ECAD and MP Lab in ECE Dept of Bhoj Reddy Engineering College as per the negotiated rates, specifications, terms and conditions mentioned below:

S No	Nama of the Itam & Constitution			
0 110	Name of the Item & Specifications	Qty	Rate	Amount
01	DECKTOR	Req	Rs	· Rs
	<u>DESKTOP</u>			
	Make: DELL	33	24 500	10.00.500
	Model: OptiPlex 3020	33	31,500	10,39,500
	Processor: Intel 4th generation Core i3 Processor (4140) @ 3.4 GHz Speed	ECAD- 13		
	Mother Board: Intel H81 Chipset	MP Lab- 20		
	Graphics; Integrated Intel HD Graphics 4400; Supports optional discrete graphics solutions from AMD			
	 Memory: 4 GB Non-ECC dual channel 1600 MHz DDR3 SDRAM; Support for 2 DIMM slots upto 16 GB 			
•	Storage: 500 GB Serial ATA Hard Disk Drive @ 7200 Rpm			
	Display: 18.5" LED Monitor			
	Optic Drive: 16x DVD Writer			
At.	Networking: Integrated Realtek RTL8151GD Ethernet			
78.5	LAN 10/100/1000 supports optional PCle 10/100/1000			
	network card, optional wireless 802.11n card	•		
	I/Q Ports; Expansion Slots; Power supply unit			7.
	Chassis: Minitower (MT) Small Frorm Factor (SFF) with	-		
	Heat Sink (65 Watts)			
	Keyboard & Optional Scroll Mouse: USB Dell Standard			
	Operating System: DOS			
N. Carlotte	VAT 5%			
WAS A SHOW				51,975
2 (CA (2))	TOTAL			.10,91,475
	Buy back of PIII Systems (BRECW-23 & MHGHS- 20)	43	600	25,800
	GRAND TOTAL			10,65,675/-
	T-P			

Bhoj Reddy Engineering College for Women Vinaynagar, Santoshnagar Crossroads, Hyderabad-500 059, Telangana

1 of 2

Purchase Order placed on M/s Powersoft Technologies for supply of Desktops (33 Nos) to ECE Dept of BRECW

(Rupees Ten Lakh Sixty Five Thousand Six Hundred Seventy Five only)

Terms & Conditions

On or before 5 June 2014 Delivery

Three years Onsite Warranty

100% payment through crossed cheque after completion of supply as per PO and after satisfactory installation report from Head of ECE Dept and I/c Computers Payment

Central Stores, Bhoj Reddy Engineering College for Women, Vinaynagar, Saidabad, Hyderabad Destination

Copy to:

Principal BRECW

Head of ECE Dept

I/c Computers

I/c MP Lab & ECAD Lab

I/c ECAD Lab

System:Administrator

Central Stores

2 of 2

Received the purchase of

Bhoj Reddy Engineering College for Wemen Vinaynagar, Santoshnagar Crossroads,

Hyderabad-500 059, Telangana.

Computer bb-11 (32 Systems)

Bhoj Reddy Engineering College for Women

Vinay Nagar, Saidabad, Hyderabad-500 059 (Sponsored by Sangam Laxmibai Vidyapeet)

Ph: (040) 2453-7282; 2453-1725; Fx: 2453-7281; Em: brec@rediffmail.com, Wb: www.brecw.ac.in

No: BRECW / PO- 417- 163 / 2009-10

Date: 01 September 2009

To M/s Gowra Bits & Bytes 1-8-144, First Floor, P G Road. Paradise Circle, Secunderabad - 03 Ph. 27828483

Bill of 20 Systems transformed from MBA dept.

Sirs,

Sub: Repeat Order for Supply of Desktops to MBA Dept of our College - Reg

Ref: Our PO No. BRECW/ PO-364-112 /2009-10 Dt. 08-07-2009

We are pleased to release the repeat order for supply of the following Desktops to Computer Lab in MBA Dept of our College at the earlier rates, terms & conditions mentioned below:

Computers - Make: Lenovo			י טר
	25	26,040.00	Rs 6,51,000.00
Model: M58e Think Center			0,01,000.00
Processor: E7400, 2.8 GHZ ; Internal Cache: 3 MB L2 CACHE			
Mother Board: Intel G41 Chipset; Memory: 2 GB DDR 2 RAM			
Hard Disk: 500 GB SATA 7,200 RPM	•		
Optical Drive: DVD Writer; Monitor: 17" TFT			
Keyboard: 101/102 key compatible standard KB;			#/
Mouse: Optical ; 5 USB ports or more, Intel Fast Ethernet			
ntegrated Controller (10/100/1000); 6 full length slots: 2 PCI			
express (x16) Gen2 Graphics Slots, 2 PCI Express, slots, 2 legacy			
/at 4%			26,040.00
Grand Total			6,77,040/-
N + C × N r e c / E	Mother Board: Intel G41 Chipset; Memory: 2 GB DDR 2 RAM Hard Disk: 500 GB SATA 7,200 RPM Defical Drive: DVD Writer; Monitor: 17" TFT Keyboard: 101/102 key compatible standard KB; Mouse: Optical; 5 USB ports or more, Intel Fast Ethernet Integrated Controller (10/100/1000); 6 full length slots: 2 PCI express (x16) Gen2 Graphics Slots, 2 PCI Express, slots, 2 legacy PCI slots; External input output ports	Mother Board: Intel G41 Chipset; Memory: 2 GB DDR 2 RAM Hard Disk: 500 GB SATA 7,200 RPM Defical Drive: DVD Writer; Monitor: 17" TFT Keyboard: 101/102 key compatible standard KB; Mouse: Optical; 5 USB ports or more, Intel Fast Ethernet Integrated Controller (10/100/1000); 6 full length slots: 2 PCI Express (x16) Gen2 Graphics Slots, 2 PCI Express, slots, 2 legacy PCI slots; External input output ports Vat 4% Frand Total	Mother Board: Intel G41 Chipset; Memory: 2 GB DDR 2 RAM Hard Disk: 500 GB SATA 7,200 RPM Defical Drive: DVD Writer; Monitor: 17" TFT Keyboard: 101/102 key compatible standard KB; Mouse: Optical; 5 USB ports or more, Intel Fast Ethernet Integrated Controller (10/100/1000); 6 full length slots: 2 PCI Express (x16) Gen2 Graphics Slots, 2 PCI Express, slots, 2 legacy PCI slots; External input output ports Vat 4% Grand Total

Lakin Seventy Seven Thousand Forty only)

Terms & Conditions

01 Delivery

: On or before 14th September 2009

Payment

100% payment will be made through crossed cheque after completion of supply as per the Purchase Order after inspection of Mr B Venkateswara Rao, Systems Administrator & Mr

Narsingh Rao and satisfactory installation report from the Head of the MBA Dept

03 Warranty

Three Years onsite

Destination

Central Stores, Bhoj Reddy Engineering College for Women, Vinaynagar, Saidabad,

Hyderabad-500 059

Bhoj Reddy Engineering College for Women Vinaynagar, Santoshnagar Crossroads,

Copy to:

Principal, BRECW

Hyderabad-500 059, Telangana

The Head of the MBA Dept, BRECW

Mr B Venkateswara Rao, Systems Administrator 4) Mr Narsingh Rao, Admin

I/c Computer Lab, MBA Dept

(6) Accounts Section, SLV

(7) Central Stores

1 /00

dal street Line Libz 6

Bnoj Keaay Engineering College for Women

Vinay Nagar, Saidabad, Hyderabad-500 059 (Sponsored by Sangam Laxmibai Vidyapeet)

Ph: (040) 2453-7282; 2453-1725; Fx: 2453-7281; Em: brec@rediffmail.com, Wb: www.brecw.ac in

No. BRECW/PO-392 - 113 / 2009-10

Date: 16th July 2009

To
M/s Gowra Bits & Bytes
1-8-144, First Floor, P G Road,
Paradise Circle, Secunderabad – 03
Ph. 27828483

Bill of 12 systems toansferred from ECAD Lab

Sirs,

Sub: Repeat Order for Supply of Desktops to ECE Dept of our College – Reg

Ref: Our PO No. BRECW/ PO-364-112 /2009-10 Dt. 08-07-2009

We are pleased to release the repeat order for supply of the following Desktops to ECE Dept of Duit College at the earlier rates, terms & conditions mentioned below:

S No	Name of the Item & Specifications	Qty	Rate	Amount Rs
1	Computers - Make: Lenovo	47	26,040.00	12.23 880.00
	Model: M58e Think Center		1	
	Processor: E7400, 2.8 GHZ; Internal Cache: 3 MB L2 CACHE Mother Board: Intel G41 Chipset; Memory: 2 GB-DDR 2 RAM	ECAD/EC Lab- 27 MP Lab- 20		2
	Hard Disk: 500 GB SATA 7,200 RPM Optical Drive: DVD Writer; Monitor: 17" TFT (432にm)		= _	
	Keyboard: 101/102 key compatible standard KB; Mouse: Optical 5 USB ports or more, Intel Fast Ethernet Integrated Controller (10/100/1000); 6 full length slots: 2 PCI express (x16) Gen2			20 e
	Graphics Slots, 2 PCI Express, slots, 2 legacy PCI slots External input output ports		- %	
	Vat 4%	1	1041	48.955.00
	Grand Total		<u>'</u>	12,72,835/-

(Rupees Twelve Lakh Seventy Two Thousand Eight Hundred Thirty Five only)

Terms & Conditions

01 Delivery : On or before 3rd August 2009

02 Payment : 100% payment will be made through crossed cheque after completion of supply as per the Purchase

Order after inspection of Mr Ravinder Reddy, HOD CSE Dept & Mr B Venkateswara Rae. Systems

Administrator and satisfactory installation report from the Head of the ECE Dept.

03 Warranty : Three Years onsite

04 Destination : Central Stores, Bhoj Reddy Engineering College for Women, Vinaynagar, Saidabad,

Hyderabad-500 059

In Correspondent

Copy to:

Principal, BRECW

2 The Head of the ECE Dept & CSE Dept, BRECW

Mr B Venkateswara Rao, Systems Administrator

I/c ECAD Lab, MP Lab, ECE Dept

Accounts Section, SLV

(7) Central Stores

4) Mr Narsingh Rao, Adminoj Reddy Engineering College for Wom Vinaynagar, Santoshnagar Crossroad Hyderabad-500 059, Telangana.

Poroived on 11/08/09

N. 1307 4 544

CSF-lab I

Bhoj Reddy Engineering College for Women

Vinay Nagar, Saidabad, Hyderabad-500 059 (Sponsored by Sangam Laxmibai Vidyapeet)

Ph: (040) 2453-7282; 2453-1725; Fx: 2453-7281; Em: brec@rediffmail.com, Wb: www.brecw.ac.in

No: BRECW//PO- 364- 112 /2009-10

Date: 8th July 2009

To M/s Gowra Bits & Bytes 1-8-144, First Floor P G Road, Paradise Circle Secunderabad – 500003 Ph. 27828483

Sirs,

Sub: Supply of **Computers** to **CSE Lab-I** of our College – Reg Ref: 1) Your Quotation No. GBB/HYD/ 08-09 Dt: 15-06-2008

2) Your Letter No. GBB/HYD/ 08-09 Dt. 01-07-2009

We are pleased to release the purchase order for supply of the following Computers to Lab - I in CSE Dept of our College at the rates terms & conditions mentioned below:

S No	Name of the Item & Specifications	Qty	Rate	Amount Rs
1	Computers Make: Lenovo Model: M58e Think Center Processor: E7400, 2.8 GHZ; Internal Cache: 3 MB L2 CACHE Mother Board: Intel G41 Chipset; Memory: 2 GB DDR 2 RAM Hard Disk: 500 GB SATA 7,200 RPM Optical Drive: DVD Writer; Monitor: 17" TFT Keyboard: 101/102 key compatible standard KB; Mouse: Optical 5 USB ports or more, Intel Fast Ethernet Integrated Controller	65	26,040.00	16,92,600.00
	(10/100/1000); 6 full length slots: 2 PCI express (x16) Gen2 Graphics Slots, 2 PCI Express, slots, 2 legacy PCI slots External input output ports Vat 4%			67,704.00
	Grand Total			17,60,304/-

(Rupees Seventeen Lakh Sixty Thousand Three Hundred Four only)

Terms & Conditions

01 Delivery

: On or before 3rd August 2009

02 Payment

: 100% payment will be made through crossed cheque after completion of supply as per

the Purchase Order and satisfactory installation report from the Head of the CSE Dept.

03 Warranty

Three Years onsite

04 Destination

Central Stores, Bhoj Reddy Engineering College for Women, Vinaynagar, Saidabad,

Hyderabad-500 059

Copy to:

Principal, BRECW

The Head of the CSE Dept, BRECW

I/c CSE Lab- 1

4 Accounts Section, SLV

(5) Central Stores

(6) Mr. Narsingh Rac, Admin

306/4543.1 06.7.09 SRMala

Shoj Reddy Engineering College for Women Vinaynagar, Santeshnagar Crossreads, Hyderabad-500 059, Telangana



Bhoj Reddy Engineering College for Women

Vinay Nagar, Saidabad, Hyderabad-500 059 (Sponsored by Sangam Laxmibai Vidyapeet)

Ph: (040) 2453-7282; 2453-1725; Fx: 2453-7281; Em: brec@rediffmail.com, Wb: www.brecw.ac.in

No: BRECW/P&S/PO- 11 6 6 /2008

Date: 8th January 2008

To M/s Powersoft Technologies # 202, Adithya Residency Aurora Colony, Banjara Hills Hyderabad; Ph: 9246522795

Sirs,

Sub: Release of Purchase Order for supply of Desktops to MCA Lab-II in MCA Deptof our College - Reg

Ref: Your Quotation No. Nil Dt: 12-12-2007

We are pleased to release the purchase order for supply of Destops to MCA Lab-II in MCA Dept of our College at the rates, specifications, terms & conditions mentioned below:

S No	Name of the Item	Specifications	Qty	Rate Rs	Amount Rs	
01	Desktops	IBM-Lenovo ThinkCenter: Model: M 55 E Dual Core- E 2140 @ 1.6 Ghz Processor, 800 Mhz FSB; 1 MB L2 Cache Intel 946 GZ chipset motherboard 512 MB DDR2 RAM 160 GB HDD (SATA) Integrated graphics GMA 3000 Combo Drive; 17" TFT Monitor 10 x 100 x 1000 mbps integrated LAN USB ports; Audio port, IBM Keyboard; Optical Scroll mouse	64	28 798	15,23,072/-	Shidted to

(Rupees Fifteen Lakh Twenty Three Thousand Seventy Two only)

Terms & Conditions

Delivery 01

8 February 2008

Payment

Received 64 Systems 100% payment will be made through crossed eneque after completion of supply

as per the Purchase Order and Satisfactory Installation

Taxes & Transportation 03

Inclusive

04 Warranty Three Years onsite

Destination 05

Central Stores, Bhoj Reddy Engineering College for Women, Vinaynagar,

Saidabad, Hyderabad-500 059

(2) The Head of the MCA Dept, BRECW (3) Sestems Administrato Copy to: 1) Principal, BRECW >

> 4) Accounts Section, SLV (5) Accounts Section

(6) Central Stores PRINCIPA Bhoj Reddy Engineering College for Women Vinaynagar, Santoshna ar Crossroads,

remogana.

To Correspondent

9.1.08



Bhoj Reddy Engineering College for Women

Valey Nagor, Saidabar, Plyderobad-500 050

Amontared by Sangam Caxolisis Violyasset) Physical Card 200 (2003) 125 Fig. 545 5750 (Ear Drackfrold Months of the Land Drackfrold Mining Com. White will break actin

No. PRECWIPSSIPO. 11155

Mis Raaga Solujioss B 1019, NGD & Colony Main Road Vanashaliputam Hyderabad 70 Ph. 9440938866

Sis

Sub: Release of Repeat Purchase Order for supply of Desktops to our College-Reg. Ref. Earlier: PO No. BRECW/&S/PO 937/2007. Dt. 20-01-2007.

We are pleased to release the repeat purchase order for supply of Desklops to Online Exam Lab of our College as per the specifications, rates, terms and conditions mentioned below.

Name of the Item	Specifications	· · · · · · · · · · · · · · · · · · ·		
Desklop		Qty	Rate	Amount
= 2500D	Make: IBM, Lenovo	Req	Rs	Rs
	Processor: Intel Pentium 4	12	33,600	4,03,200
	(524 processor)		est in	,
	> 945 Mother Board			i.
	≥ 512 MB RAM DDR2			
	BM keyboard & Optical			
	Wouse			:
	IBM P4 Case 400w/CD Write			
	1 NO 110/100/1000 MRDO		Lance Control of the	
	'S HOD II.	45		
	A COOL FORS	100	1.	
Discount	> USB Ports > 17" TET LCD Monitor			The same of the sa
Discount @	> 17" TFT LCD Monitor			
Discount @ (Rs100 per unit)	≥ 17"TFT LCD Monitor	12	100	1,20
LRs100 per unit)	► 17" TET LCD Monitor	12	100	1,20
Discount @ (Rs100 per unit) Grand Total	≥ 17" TET LCD Monitor	12	100	1,20

(Rupees Four Lakhs Two Thousand only)

Terms & Conditions

Delivery

On or before - 2) October, 2007

pagi Reddy Engineering College for Women Vinaynagar, Santoshnagar Crossroads, Myderabad-500 059, Telangana.

Payment-

100% payment through crossed cheque after complexion of supply as per the

Tax

Iriclusive

8293 12865 17.1657



I Sypres

Bhoj Reddy Engineering College for Women

Vinay Nagar, Saidabad, Hyderabad-500 059 (Sponsored by Sangam Laxmibai Vidyapeet)

Ph: (040) 2453-7282; 2453-1725; Fx: 2453-7281; Em: brec@rediffmail.com, Wb: www.brecw.ac.in

No: BRECW/P&S/PO- 937/2007

Date: 20th January 2007

To
M/s Raaga Solutions
B-1019, NGO's Colony,
Main Road, Vanasthalipuram
Hyderabad -70
Ph: 9440988866

Sirs,

Sub: Release of Purchase Order for supply of Desktops & Server to IT Dept of our College-Reg.

Ref: Your Quotation No. 243 T Dt: 10-08-2006

We are pleased to release the purchase order for supply of Desktops & Server to IT Dept of our college at the negotiated rates, as per the specifications, terms & conditions mentioned below:

SI	Name of the item	Specifications, terms & conditions mentioned below:			
	, and a second	Specifications	Qty	Rate	Amount
1	IBM, Lenovo	Dungara I d I D	Req	Rs	Rs
· /	Desktop	Processor: Intel Pentium 4- (524 processor)			
	Desktop	3.06GHz	30	33,600	10,08,000
	· ·	945 Mother Board	1	,,,,,,	
	- X2	512MB RAM DDR2			
		80GB HDD SATA	٠.		
.		IBM Key board & Optical Mouse		•	
	•	IBM P4 Case 400w/CD Writer			
		NIC (10/100/1000 MBPS)			
.		USB Ports			
		17" TFT LCD Monitor			
2/]	IBM Server	Interl Pentium 4 – 3.0 GHz XEON			
	. /	1024 MB RAM		•	•
		72 GB HDD SCSI	01	95,000	95,000
		IBM Key Board & Optical Mouse	. , .		•
		Spl IBM SERVED			
		Spl IBM SERVER case 450w DVD Writer			
			-		
1		NIC (10/100/1000 MBPS)			
		USB Ports			
1.		17" TFT LCD Monitor	*	. [
		Dual CPU support MB			
	Total .				11 03 000

(Rupees Eleven Lakhs Three Thousand only)

309/16

1. IT lab I sp.

nege No. 18 18

No. 72857 2386 Date 23.0(12007 Signature: V642

2- 1 Ken Super Ken

Bhoj Reddy Engineering College for Women Vinaynagar, Santoshnagar Crossroads, Hyderabad-500 050 Talangana...

--2

Terms & Conditions

1 Delivery

: On or before 15th February 2007

2 Tax

: Inclusive

3 Payment

: 100% payment through crossed cheque after delivery and installation

and Satisfactory Report from Systems Manager

4 Warranty

: 3 Years

· 5 Service

: weekly once preventive visit

6 Intimation

: Supplies should be as per the specifications mentioned in PO.

Otherwise the supplied items will not be accepted on any condition

7 Destination

: Central Stores, BRECW, Vinaynagar, Saidabad, Hyderabad.

Correspondent

Copy to:

Principal, BRECW

2 The Head of the Dept, IT

3 Accounts Section, SLV

4 Accounts Section

Central Stores

6 System Manager

Zend gord ornal

Plan Sumer - Cato A SR Mye NO: 30

PRINCIPAL

Bhoj Reddy Engineering College for Women Vinaynagar, Santoshnagar Crossroads, Hyderabad-500 059, Telangana